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. woE W & ~ v ok = v 7 B |
o E N F % T 4 A .
L § = By v 7 # B =X B s i3 # L
ALES | s | AR " £ g ;
B | W | W | WEE | e Wi | v [pia we| v || s s Tas| T | as [as [ s |10 | s o] 30 45 60 30 60 90 | 120 | 150 | 180 | 210 | 240 | 60 90 | 120 | 150 | 180 | 210 | 240 T =
506-7 782.14 199 | VU | 200 | 780.152 | VU | 200 | 780.182 | 0.030 | 1 1 o |1 1 1 1 1
506-8 779.86 185 | VU | 200 | 778007 | VU | 200 | 778052 | 0.045 | 1 1 10 |1 1 1 1 1
506-9 777.89 1.86 | VU | 200 | 776.032 | VU | 200 | 776.082 | 0.050 | 1 1 20 | 1 1 1 1 1
506-10 775.95 183 | VU | 200 | 774.120 | VU | 200 | 774.142 | 0022 | 1 1 40 1 2 1 1 1
206-1 775.07 183 | VU | 200 | 773242 | VU | 200 | 773.262 | 0.020 | 1 1 40 1 2 1 1 1
BER%
206-2 773.01 205 | VU | 200 | 770964 | VU | 200 | 770.984 | 0.020 1
1 1.200~3.000m 5 S| 150 G 100 A
3.001~4.000m | 200 5 P 150 B
s 4.001~5.000m S| 250 Ll 200 c 5 3 ]2 7 2 3 2 3 6
1.200~3.000m 8 | 150 e 100 Al
3.001~4.000m 2 yHT| 200 10 Va3 150 1 B
& at 4.001~5.000m it 250 pais 200 c 7 13 416 12 ]2 4 5 1 1 1 2 3 5 12

A, B FHERE (rroy 7 k), C: REHRE




£1 T

>
\

i
Ha

I

Hol

< IR

B THE (R

B ¢ 150mm) -4 Bl £fi TE H (FEHER)

N1 B~ h—L

BIEERTHR 18T

R 1.10m  1EFTH4Y

AERE @200mm FHAEE  @200mm  EIEE @150mm
% 7 ok - ~F = = B L H = 1
jﬁﬁ_t\\
B F90°/h & 150mm {E] 1 7 =170mm
jﬁﬁ_t\\
L — T REE 150mm 1.10-0.175- (0.17040.140) m 0.62m
jﬁﬁ_t\\
h T — 150mm & 1
W B wE C-40 0.42x0.40x0.20 m> 0.034
BI'E F90° % & & 1 7 = 140mm
a7 —he R OEEE R
k= 1.1 —0.11 — 0.175 +0.175 = 0.99
R 7 —h BIEWmEFE = 0.165"°2 x /4 = 0.021
18-8-25BB
oy ) — hhi#EmE (180.45) = 1.1-0.11=0.99
a7 J— hhi#Es  (180.42) = 0.145
0.45%0.40x0.99 + 0.42x0.40x0.145 - 0.021 x 0.99 m’ 0.182
B (0.45 x 2 + 0.40)x0.99 + (0.42 x 2 + 0.40)x0.145 m> 1.467







Wt THEEHER (6 150:F5)
HiEAs (55-595#%)

B £ THEERR R (¢ 150: A A)

BHO. 28 BHO. 28
Tff A THE & AL
& A T EASL
L/4.0 0.93 0.93[ A& L/4.0 D
B AR L B E AR L
L 3.72 3.72| m L m
EREE T T AHEEL T T
3.74 374 m m
SRR A SRR E A
m2 m2
LS EE T AEERUE T
m3 m3
PEHI T PEHI T
2.17 2.17| m3 m3
BERAT(A) BEREEWA)
SUTIEAM (@) R L T 0.49 0.49 m3 SUFHEAM () HREL T m3
WIERET WIERET
0.69 0.69| m3 m3
BERALHET (B) BERALHET (B)
B+ B 0.15 0.15[ m3 B Hi 4 m3
[ A (D) T HE AT ()R T
B m3 B m3
Feasy T Pty T
1.46 1.46| m3 m3
AsiLy T AsiLy T
m3 m3
FET FE T
t nt
FEE T LERET
2.33 233 of i
Tl RaE T TR T
2.14 2.14| of i
AR — MR R T —
W=30mm m W=30mm m
HERIER S — AR —b
W=150mn m W=150mn m




6150 B f+ & M £ & & £

No.1
ALE S BT ke Bl Y T AT S
A il A i I e R R | RE R | A s EomeE| B it [mewpslrviaeE|piEesE] 300 60° 30° 60° 90° 15 |=vov—H e

W) |mersEassa| 206 206-1 206-2 0.80 235 0.95 0.85 0.93 1 1 1 1
hat 0.80 235 0.95 0.85 0.93 1 1 1 1
D
alid 0.8 2.35 0.95 0.85 0.93 1 1 1 1

SR =PRE- (f 83— b S+ER) m i e 20mm, 7HGAEE20mm, BhAgk#150mm

S EE =R (f VN R EES+ES) 0.59 m M e S 20mm, TAIG 4 20mm, Bi#SkE:150mm




HTIE (55-595#R) As : BKM - Bt £ THEHEN ERe150

HfHERELI=LatLb= 2.85 . AT 4 ¥R (bHER)
BHO0.28{%# n = BEE S — |
bl La 235 N La = SRR (A3D) =235 = 235 m
0.50 La = 5 IR R () = La/n = 235 m
~ 12237 | R EE Lb = RHNIEE = 0.50 = 0.50 m
- 095 | Lc = R B RSy = 0.48 = 0.48 m
 Ld lg L3 1.87 Lg Ld = EEWERGEGE = = m
| 0.48 Ld =  FEEDIER(CEY) = Ld'/n m
Ll = BUHER = La+Lb = 2.85m
L2 = +THEE = Ll-Lc = 237 m
h2| hi L3 = REER = LalcLd = 1.87 m
0.90] 0.80 ho = W =0.10 = 0.10 m
H2 h' = 1EKBHE (&8 = 0.80 = 0.80 m
0.85|H3 hl = 15K PHE (FH) = h/n = 0.80 m
1.72 h2 = 15 A Bk il = h1+h0 = 0.90 m
Hl = AR (IR = L2*20%0+h2 = 0.95 m
— v H2 = A AE R = L.2%20%0+hl = 0.85 m
H3' = AEL#Y (EFH =17 = 1.72 m
v H3 = ARE 9k (F8) = H3'n = 1.72 m
H = SERHREIGE = (+HD2 = 0.93 m
L = B EIER = L1+ (H3-H2) = 372 m
IfE TS EE (+T)
W1 1.308 HiEEYI T = (L3*%2) = 3.74 m
EE / a SPERUERR = (WITWK)/2*L3 = 242 m2
W2 1.278 0.050 WK (U4 ) SHEETUE T = (WI+WK) *ak/2¥13 = 0.10 m3
= / b 1.284 WEIT. (28 — (WI+W8)/2%H* (12-Ld) — 227 m3
W3 1.218 0.100 ak (BEREAIAEE) WL (&) = Al T —SETuET = 2.17 m3
e / c 0.04 MEERAE LAWHRE T = (W6+W7) /2% (L2-Ld) = 0.49 m3
W4 1.068 0.250 WEBT = (W7w8)*e2R2* z /) *(L2-Ld) = 0.69 m3
WEE = WA = 0.69 m3
B (b) R T BEREHEET®) () = (W5+W6) *e/2*¥L3 = -0.07 m3
d BERAECEET(B)(R) = (WI+W6)* (atbtord+e) /2%Lb = 0.22 m3
H A (b) : 2 BRERAETB)E = B+ Rl = 0.15 m3
W5 1.068 0.93 XA, E2 HE A DR T = (W4+W5) *d/2*L3 = m3
EHAST = EElHE-Gi4EHAB) /09 = 1.46 m3
RERATHET(B) / e AsfLy T = (WI+WK) *L3/2*ak = 0.10 m3
W6 1.089 -0.035 FKET = (WI+W2)2*L3 = 2.42 m2
A (A) JUTHEAR (a) HE T f LERET = (W2+W3)/2%L3 = 2.33 m2
W7 0.969 0.200 TREESET = (W3+W4)2%L3 = 2.14 m2
WEBRT KIEAM ()R LAY
g
0.365
W8 0.750

0.3 A




f<

el




s k4 e
A E OE M E O L
A1 T EEE 200 mm NO. 1
& | m | m ] )
AT s ST SRR
%% # 7 Y ®
# I — — — - - - — — -
= it R s £ As Co W (HiE) WH (3H) BT3E1 545 HT3E (As) (55-595#) BT (Co)-2@fHEIA | ®FhE —RETE -
ol b | TR B il 3 # | =20em | t=30em | t=40em | t=20em | t=30em | t=35em 10cmiz As(235tm3) 10em<ISemiZ As@235Um3) | FET | BB =ET | wmT |ZEEHL g e | ®ET | LB B | ®ET | B | s | mET | LB T
& & -2 UT YT UT UT UT YT Sem 20em 3em 15em 15(5.5.5) 1lem 69em Sem 10em 15em 10em 12em 10em dem 10em 25cm
Yo | % | % | m m m m m m m m m m o m3 ¢ " w3 . o o o m‘ o o " o o o o o o o o
506 506-1 506-2 35.00 0.95 3.60 0.04 70.00 126.00 5.0 1175 126.0 333 333| #HIAHE=3.60m
506 506-2 R 4.20 0.95 3.60 0.04 8.40 15.12 0.6 141 15.1 40 40| #IAE=3.60m
506 AR 506-3 3.80 0.95 0.30 0.15 1140 1.14 02 0.40 11 36 36 HIAHE=0.30m
506 506-3 506-4 40.50 0.95 4.00 0.15 81.00 162.00 243 57.11 162.0 385 385 HIAHE=4.00m
506 506-4 506-5 38.00 0.95 4.00 0.15 76.00 152.00 228 53.58 1520 36.1 36.1 T IAHE=4.00m
506 506-5 R 540 1.05 4.00 0.15 21.60 21.60 32 761 216 57 57 HIAHE=4.00m
506 B 506-6 3.70 1.05 5.00 0.05 7.40 18.50 09 212 185 39 39 EIAHE=5.00m
506 506-6 506-7 61.00 1.05 5.00 0.05 122.00 305.00 153 35.96 305.0 64.1 64.1 EIAHE=5.00m
506 506-7 506-8 60.00 0.95 4.95 0.05 120.00 297.00 149 35.02 297.0 57.0 57.0 HIABE=4.95m
506 506-8 506-9 55.00 0.95 4.90 0.05 110.00 269.50 135 31.73 269.5 523 523 HIAHE=4.90m
506 506-9 506-10 54.00 0.95 4.95 0.05 108.00 267.30 134 3149 2673 513 513 HIABE=4.95m
506 506-10 206-1 24.50 0.95 4.90 0.05 49.00 120.05 6.0 14.10 120.1 233 233 T IHHE=4.90m
206 206-1 206-2 64.50 0.95 4.90 0.05 129.00 316.05 158 37.13 316.1 613 61.3 T IHHE=4.90m
203 2032 204-1 2.00 0.95 0.05
N 451.60 913.80 1.734.52 854 200.71 336.74 50.5 118.70 336.7 839 839 15935 3132 3132 141.1 373 373
A at 451.60 913.80 1,734.52 85.4 200.71 336.74 505 118.70 336.7 839 83.9 1,593.5 313.2 313.2 1411 373 373




& W it 7 H H B
&I
1. S4V%BIET
1-1) B#% (W=15¢m)
o A—S54A42 GBLVELE)
EIBEAT: No506-3~No.506-5 87.00m
ERAAIER
HIBEFT: No506-3~No.506-5 68.00m
TER
EIBERT: No506-10 AfLAHIE 1.80m
156.80 156.80 m
1-2) Tk Fh 1R (W=15cm) EIBEFF: ONo.506-6 AL
L = 9.00m X 1&FF 9.00 9.00 m
2) HEETSETLEE HIBER: No506-3~No.506-1
(W=20cm)
L = 1000m x 2@ 20.00 2000 m
3) Z1EHR (W=30cm) BIRERF . DNo.506-3 A LA 3.00m
T=E# (W=30cm) (DNo.506-3 A FLATIE 4.20m
7.20 7.20 m
4) {Z1E#8 (W=45cm) WIRERT: (DNo.506-3 AFLIFIE 4.20m
©@No.506-5 AfLIIE 3.20m
®No.506-6 A LT 4.50m
TEWT S E AR (W=45cm) EIBEAT: DNo.506-5 AFLIHIE 14.00m
25.90 2590 m




SMBEHEE) 204-1
T ®] &% W B & B s EE % &
A & ) W T [t=20emE T (280 + 280 )x 2 = 1120 m 11.20
SEERUEL T (t=5cm 2.80 X 2.80 = 7.84 i 7.84
£+ & L& 25 18 1B TR -As20F t=5cm 2.80 x 2.80 = 7.84 ni 7.84
& B TIM-25 t=10cm 2.80 X 2.80 = 7.84 i 7.84
T & & % T|RC-40 t=25cm 2.80 x 2.80 = 7.84 ni 7.84
A BHO.60m’ & TAKED ( x ) ( - )= - 6.97 x = m’
HEBHO.60m’ SLHTES | A #EHE = 280 2x 3144 = 6.15 m. IEEIEHE = 298 2x 3144 = 697 mi MR = 4528 m
6.97 x( 4528 — 005 )= 31.21 31.21 + 6.97 x = 31.21 m’ 31.21
B
B E T|[/9hY=00.60m’ 697 x(__ 600 — 600 )= m®
i 6.15 x =
N'yJ90.45m” A UKL = m®
+ =T () = = m’
R 6.15 x (4528 - 0.60) = 2416
Ny JFD0.45m® A k-l = 9.16 m®
A ERER = x x + x x = m® [##RRE = 9.16 m’
(FEL) 2416 — 9.16 = 1500 m 15.00
R 6.15 x =
N'yJE70.45m3 A Uk-IMERR = m3
A ZERER = X x + x x = m’ [##RRE = m®
ARIEER = x x = m3
HOE L T@E) - = m3
10~11tH + 3121 — 1500 + 09 = 1454 m 14.54
F% + WL EE TR 7.84 x 005 = 0.39 m® 0.39
(0216 + 01 x 31474 +( + Px 31474 +( + %3144 Y= 0.08 ni
797" 0.08_x 35.70 x 1= 2.9 kg 2.9
t=2.7 300 / 050 = 6 B
t=3.2 v 050 = B
FAFT =7V — ML ( 6 % 157 — 29 )+ x = 939 kg 939
C# %) 150 0.50 = 3B
FAF — fiiES 3 x 157 = 471 ke 471
VAZEN t=2.7 450 / 050 = 9 &
t=3.2 s 0.50 = B
BREEE 9 x 157 + x = 1413 ke 1,413
B R Qs 3.860 m 3.86
HEH ¥ Tt 0628 m 0.63
B B T 1.50 m 1.50
’x 3144 = m
J 79T ( 6.97 — 6.15 ) x 4488 = 368 m® 3.68
STHTELRE 27— (t=15cm) ’x 3144 % = m?
S BT EE A T RR EERE (t=20cm) 298 °x 3144 x 020 = 1.39 m 1.39
[ERETER ZRE TR
/) —h L *x 3144 x = X X = m?
FHCo |MmiE= v R T Eﬂ'FE‘B y _ .
ZRE TR
AT x x = m




T B R % &

No.204-1

REREL
P 3.14/ 4% 0.82 X  0.038 0.02
REE 314,712 % ( 1.75 %+ 175 X 0.820 + 0.820 %)X  0.450 0.61
EEE HRIE T w2 3.14/ 4X 1.75 %X 3.30 7.93
JERR 3.14/ 4% 1.80 X 0.15 0.38
HATE (VU ¢ 20020 0.416 X 0.600 X  0.525 0.13
itk (SUS ¢ 80) i skae 0.289 X 0.600 X  0.525 0.09
R4 LG 9.16 m’




FA{T— 7L —L#EE ]

[4070x2500 ]
1B¢%4Y 1B:%4Y
t=2.7mm t=2.7mm
P—10 7 8( 26.00 ke H%), RK( 1.92 ke /¥2) P—10 4 #( 26.00 ke, o), BH( 1.918 ke, /#%)
P—8 0 #( 21.10 ke ), ALh( 1.64 ke, ¥7) ( 26.00 + 1.92 )X 4 = 112 ke /B
(26.00 + 1.92)X 7 +( 21.10 +  1.64)X 0 = 195 ke, /B%
1B¢%4Y
t=3.2mm 1E:4Y
P—10 7 4( 30.90 ke %), RK( 1.92 ke /¥2) t=2.7mm
P—8 0 #( 25.00 ke ), ALk ( 1.64 ke, ¥7) P—10 5 #( 26.00 ke ¥r), R/Lh( 1.918 ke, /#%)
( 30.90 + 1.92 )X 7 +( 25.00 + 1.64 )X 0 = 230 kg B ( 26.00 + 1.92 )X 5 = 140 ke, /B
48813000 ]
1B¢%4Y 1B:%4Y
t=2.7mm t=2.7mm
P—10 7 8( 26.00 ke H%), RK( 1.92 ke /¥2) P—6 5 Ke( 16.20 ke ), R ( 1.370 ke /#%)
P—7 2 #( 18.60 ke ¥z), AR/LR( 1.51 ke, /¥7) ( 16.20 + 1.37 )X 5 = 88 ke B
( 26.00 + 1.92)X 7 +( 18.60 +  1.51)X 2 = 236 ke /B
1B¢%4Y
t=23.2mm
P—10 7 4( 30.90 ke %), RK( 1.92 ke, #2)
P—9 2 #( ke, /#), RIVR( 1.78 ke /¥2)
( 30.90 + 1.92 )X +(  0.00 + 1.78 )X 2 = 4 ke B
| 52800 | 1ni4h ¢ 2800, ¢ 2500, ¢ 1500
1840 t=2.7mm
t=2.7mm (157.152) /(2.8 X 7 X 0.50) = 35.70 ke, /' nd : ¢ 2800
P—10 4 F( 26.00 ke F0), Rk ( 1.92 ke /¥2)
P—38 2 ¥( 21.10 ke /#%), RH( 1.64 ke /¥2) t=2.7mm
( 26.00 + 1.92 )X 4 +( 21.10 + 1.64 )X 2 = 157 ke /B (26.0 + 1.918) /(1.570 X 0.50) = 35.60 kg, nf : ¢ 2500
t=2.7mm
(16.2 + 1.370) /(0.942 X 0.50) = 37.30 ke, /nd : ¢ 1500
ARV RER
t=2.7mmor3.2mm
P—10 0.137 X( 10 +4)= 1.918 kg/#&
P—9 0.137 X( 94+4)= 1.781 ke/#&
P—8 0.137 X( 8 +4)= 1.644 kg/#&
P—7 0.137 X( 74+4)= 1.507 ke/#&
P—6 0.137 X( 6 +4)= 1.370 kg/#&




3 = vk — L B OTOME R
7 o v 7 M W | 5
e il Ty fEft L KO T BEY EH | 7=
i 3 I | <fE7ways EoORE sitce RIEE | R . il L
& B 5w A=k [grs—p or M3B M3S M3 M3T MR | MWB| %
Bt [ H = 3.0 H > 3.0 i SE 900 X 1500 900 b
T A2 73—h L DI P_PB |60 (90 120 150 180 30 160 90 |120/150/180/210 60 | 30[45 [0 [ 5 [10 [15 [25 [45 | < [PrP|PRP|PRPSUS| VU VU
Hifir | fip fi3g {7 féi it féi it féi it féi i i g5 [0 0w qm (T8 (A e e A 0 | [ 9 [ (6 [0 [ [ [0 ] [ [s] 150 200 250 80 200 250
ES
44 1| i it T) 1 1 1 1 1 2| 1 1 11
(3B~ h—AGEE ]
No.
< i Wi A m £l 2 7 v v J H W | 5
iR v 7 BEY EH | 7=
R % mm i i 3 w % i s v | W | R (A= EoORE sitce RIEE | R . il L
| (e B A i 7 7| or M3B M3S M3 M3T MR | MWB| %
e e | 3 R EAR:E sE__| 900x1500 900 b
< R— | I = 2l i P_PB |60 (90 120 150 180 30 160 90 |120/150/180/210 60 | 30[45 [0 [ 5 [10 [15 [25 [45 | < [PRP/PRP[PRP[SUS VU VU
& m m mm_| fif m m mm | ffi| m mm A0 |fE 0 fE fE 1z : 0 . i 8 | [ [fE[fE[fE {5 |05 |65 | 150 | 200 250 80 | 200 | 250
80
(L) wIY
204-1 4.178 755.225|  SUS 200[VU| 753.982| —1.24| 203 8 v 1 1 1 1 2| 1 1 11
I
R
il
aHE | 1 1 1 1 2| 1 1 11
(A HE. 1) @
| rpse 3 1 [ 1 1 1 2l 1 1 o1
ai [ fii FRED VU; MR VE; e IR PRP; U7 (T e 4 1
Gl 1) Ee3 Mg HP: Bk y)—hE CPfifg % VP HEHE T35 B i e 5
L5 1k AKGHE T (EE AITTP400) S e A P} = ARV AL LT (CoBNT BT O N 1 i = /) bl N ELEDEIE T
VU ¢ 250 VU ¢ 200

VU200 1# X LHUERSE X RIS R



No.203-2 v ih— LN EH =

EH TIig B {sp &5t fig=

INo.203-2

15X k—ILET

1. BRAERET RC40 m3 0.5]/(0.90™2 x 7t —4) X 0.782
2. av9)—+T 18-8-40 m3 0.1]1(0.9072 % 1 —4) x0.2

3. BJLFIIFET BEEESUSE yoif m3 0.05/(0.89172 x 1 —4) x0.075
4. REITE£ERYSL El 1

5. Ik)KTS545 ¢ 200FH & 201E¥(H%:1H

6. IHEH 147kw(200PS) 4t = 201E%H%:1H




